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1. Answer the following as directed : 1x4=4
were frarcarEs FoteRE e fran

(@) Which of the following is true about an
inductive argument?
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(i) If the premises are true, the
conclusion must be true.
A SRR AP TG R, A e 233
A |

(i) 1t is possible for the premises to be
true and the conclusion false.
YEE ATPFR e} W PR e
CZIAICH! FA7T 7 |

(iii) The conclusion follows necessarily
{rom the premises.
Prawecs! wiem qepme @ SPErsTa
s =71 |
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{c)

(d)
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(ir)) , The conclusion is certain.
et fAfvs =
i ( Choose the correct answer )

( 0% Tt AR Bfrear )

Give the obverse form of the following
proposition :
“Some students are players.”

weTs fil I6I0E AfR]ES T4 e o -
“Rrgam et @ e 1

Give an example of mediate inference,

TN SR @61 S f )

Which of the following is true?
TS TAARA CILo! 75 2
(i) Categorical syllogism is a mixed
syllogism.
facers s txrr @ g s
(i) Dilemma is a pure syllogism.
FOUH TR I SRR |
(iij) Disjunctive-categorical syllogism is
a pure syllogism.
Rearers-Feems 7 e < ik i

(iv) None of the above

ST CFICAICOIAE Tz
( Choose the correct answer )
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{ Continued )
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2. Answer the following questions : 2x3=6

TS i 2AR] Tes fea

(a) What is an argument?
R |

(b) State any two rules of conversion.
TS R e o1 e Brme 3

(c) What is enthymeme? Give an example of
this type of syllogism. 1+1=2
ASREIAR T FHFSTR I QAUA? G} 2R
e QB T fea o

Write short notes on any two of the
following : 5x2=10
e fraiars R e or R 5 Gr foran
(a) Distinction between deductive and
inductive arguments
fRermrE P WS e AeR e
{b) Conversion by negation
Frsee TR
{c) Sorites
TR
(d) Fallacy of relevance
AFTATORAS SN A SRS
Answer any three of the following : 10x3=30
g Ty o

(a) What is simple conversion? Can ‘A’
proposition be converted simply?

Explain. 2+8=10
A TEET B2 A’ IR I TTRET IR
NIRRT 7 BT A 4 )
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(b)

(c)

(d)

(e)

(4)

What is hypothetical-categorical

syllogism? Explain its different forms

with suitable examples. 2+8=10

Aise-FacT® T 2 @2 27" TRR ARkw

IR T TAIZAPTR M 9 |

What is disjunctive-categorical

syllogism? How do you test the validity

of this kind of syllogism? Explain. 2+8=10

Renere-Faeers 0 B2 @2 2o/ TiRw tae

o e« aR3 2 amm T

What do you mean by inductive fallacy?

Explain any two types of this fallacy

with suitable examples. 2+4+4=10

mwm‘zmmwﬂﬂ%iﬁmﬁsm? R

I H2 4TI G Seifs SoRe SraerTe

PG F9T :

What do you mean by fallacy of

ambiguity? Explain any two types of

this fallacy with suitable examples.
2+4+4=10

mdamwﬁswznww%iﬁm&m? :

B @ R 2R G iR R bome

SRR A0 19 |

What is dilemma? Explain the method

of testing the formal validity of a

dilemma. 2+8=10
O MCT 2 FH wrRersrs 23y v
[@SCH! AN 4 |
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